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POPULATION STUDIES
Paper — 11
Note : This paper contains fifty (50) objective type questions of two (2) marks each. All

questions are compulsory.

Some salient features of a census are
1. Selectivity

2.  Simultaneity

3. Universality

4.  Periodicity

Find out the correct combination of
answer according to the code :
Codes :

(A) 1,2and 3 are correct.

(B) 2, 3and 4 are correct.

(C) 1, 3and 4 are correct.

(D) 1,2 and 4 are correct.

Assertion (A) : Coverage of vital
registration in India is low.

Reason (R) : Substantial population
of India is illiterate and rural
based.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

With regard to Indian Census, which

one is correctly matched ?

(A) CensusofIndia : 1948
Act

(B) Start of dejure : 1931
method of
Census taking

(C) Referencedate : Feb.9,
of 1971 Census 1971

(D) Startof Census : 1881
taking
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Which one of the following possess
dual recording system of vital events ?
(A) NSS (B) NFHS

(C) SRS (D) Census

Which one of the following is not
matched correctly ?
(A) Stable B

Population - (g y@ym(a)da= 1
Theory f P@m@)
o

(B) A PP,
Migration "
Model 12

(C) Fertility 2M,
Analysis 10, =5\

X

(D) Population :p =p e
Projection

Which one of the following methods
of population projection requires age-
specific fertility rates ?

(A) Gompertz Method
(B) Component Method

(C) Exponential Population Growth
Method

(D) Balancing Equation Method

The interval between survey point
and last birth is called

(A) First Birth interval
(B) Interlive birth interval

(C) Open birth interval
(D) Forward birth interval
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STHEEAT AT

v - |

W 0 uvT | Te (50) Tg-faedid e § | e We Al (2) 3 € | @t IR ST ¥ |

1. SFIUFT 6 8 I R €
1. ST

2. BT
3. vt
4. 3IEH

IS TeFd T I H Tel T
1 i

WS
(A)
(B)
©)
(D)

1,2 X3 TWE |
2,3 M4 TE |
1,3 M4 TE |
1,2 W4 TEE |

2. A9HYA (A) : IRA H STH-JG &
GSTIehOT ST SherksT (T € |
% (R) : R 1 STHEEAT TR
37T SATVTRT T Tl A @ € |
HE
(A)

(A) 3R (R) 31 Tt € 3R (R),
(A) FT el T & |

(A) 3R (R) 7T F&l &, W= (R),
(A) T TET T & € |
(A) T &, R (R) 3T T |

(B)
(©)

(D) (A) 3TF &, W< (R) TAE |
3. YRA™ SFEIVMET % SRy Y, i 9T et

e 9 gaferd & 2

(A) 9ORAE SFTOAET 1948
arfufrag

(B) SHUMTEHA @ : 1931
HA T
RIS

(C) 1971 SFRUMT & : WeRl 9,
T fafer 1971

(D) SFOMAT S AR ;1881
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4.

f=ifhd & @ fae Usid SF9-gg
HEAT3 Bl STedt RISt el & 2

(A) TATHTH.

(B) TAU®UATH,

(C) TH.IRTH,

(D) SHIUET

iR o | SIF 1 T&l GHied el § 2
(A) T B

ST
e f € “p(@m(a)da=1
(B)

(C) U 2M,

Freifehd & & STHEEAT WeITOT i i 9t
Uga | 3Mg-foreiy ISt &7 T 3
STTTTIHAT BN & 2

(A) T T

(B) 31@gd ugfd

(C) =dieht SHEET Jig Ushd

(D) Hlor HIHOT Ugia

e fog @R it =1 % o
3T i T &

(A) TIH S IRA

(B) 3 STHT % S 31Tl
(C) Togd (Gl ST 3R
(D) 3 ST AT
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10.

11.

Myer’s blended population index is
used to correct :

(A) digit preference in age data

(B) sex-ratio

(C) growth rate

(D) migration rate

Which one is not matched correctly ?

(A) CBR . A measure of
fertility

: A measure of
mortality

. A measure of
migration

A measure of
population
growth

(B) IMR
(C) SMAM

(D) NRR

Dubling time of a population for a
given growth rate (r) is
() t=198

_2loge
(B) t=—

_loge

loge 2
r

(D) t=

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R) :

Assertion (A) : Kerala is the only
State in India with sex ratio in
favour of female.

Reason (R) : Gender bias is low in
Kerala.

In the context of the two statements,

which one of the following is correct ?

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.
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12.

13.

14.

15.

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R) :
Assertion (A) : Mizoram has the
highest female work
participation in India.

Reason (R) : Increasing levels of
female literacy facilitate their
gainful employment.

In the context of the two statements,

which one of the following is correct ?

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(C) (A) istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Distribution of population in India is

(A) peripheral to the peninsular plateau

(B) tending to be uniform

(C) highly scattered all over the
country

(D) concentrated mainly in urban
centres

Spatial redistribution of population
by the Central or State Governments
is called

(A) Spontaneous migration

(B) Impelled migration

(C) Transmigration

(D) Restricted migration

Given below are two statements, one

labelled as Assertion (A) and the

other is labelled as Reason (R) :

Assertion (A) Punjab has the
highest percent obese women
in the age group 15-49.

Reason (R) :Female  work
participation rate is relatively
low in Punjab.

In the context of the two statements,

which one of the following is correct ?

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.
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10.

11.

AR o MiSd SEen gaeish 1 SudnT

fea T &

(A) 3Tg Tt Siengl § i STram
(fefste i) =t @&t & & ford

(B) for-3ruTd Wel A & ford

(C) & T T+ & ford

(D) Waa 3T W FA & ford

I T Tel GAferd & ¢ 2

(A) WEALAX, ;TS THAT H A
(B) SRUH.AR. : T I H AT

(C) THTATUH. : Jagd &I q™

(D) TAARAR, : SHEEA g o AT

7ed gy 3T (1) & ford SHEE & g
TR % o T v

(A) t=18¢

(B) t= 2I0g

_ Iog e

Iog 2

(D) t=

T 51 e 53 T €, U w A
(A) 3 T Ht dF (R) T A1 231 700
o

Afpe (A) : IR H FHIA B ot
T € Tt fort erurd ferat o et
qE |

% (R) R B fomm g
TaE T

3IFT I FEA b A_H H, a7 9

I T e ¢ 2

HIE

(A) (A) @R (R) sHi @@l € 3R (R),
(A) FT T& LT T |

(B) (A) 3R (R) I Wl & W] (R),
(A) T TeT TR & € |

(C) (A)TTE W (R) AT |

(D) (A) 3T &, W (R)TAE |
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12.

13.

14.

15.

AT &1 9 T T €, T o SR (A)

3R g 1 e (R) 1 9 e man e

Afped (A) : R H ITgad  Afeel
T T X FRA H ¢ |

% (R) : AfgeTeT i AR
FEAT g3 TR 3% TR ST
B GAT TAAT T |

IFT I FUAI & GeH H, T # 9

DI T Tl & 2

EaE

(A) (A)aﬂr(R)aﬁrw%aﬁr(R)
(A) T Tel T & |

(B) (A)aﬁT(R)ﬁW%W(R)
(A) T TEl LT FE € |

(C) (A)T=E W< (R) AT |

(D) (A) g, W (R)TAT |

IRA § SHEEAT Fl aawo

(A) TG TR 9 UREE ¥ |

(B) TUHEY (THEY) EH &l 3R UG & |
(C) U= I T 3TATH thell g & |
(D) eI TRIA H5l H Hisd ¢ |

FEE AT T TWHRT R STHGET
1 feRoT Feard € |

(A) TTFT (TEST) Tae

(B) R vaw=

(C) oM T

(D) wfdeTad were=

T 3 e ST TR E Uk ol TR (A)

AR TR a% (R) & W G mn g

AfuHAT (A) (TSE H 1549 T &
Mg o # Wl fEE w utae
3Tfershad € |

% (R) 1 B R (| o )
TEIITeT ST Joricesh &9 J e & |

ST 3 FUAT & Gy #, Feifed 4 9

I TN e T 2

BT

(A) (A) 3R (R) 3HI & € 3R (R),
(A) FT TET LT § |

(B) (A) &R (R) Tl 7 & = (R),
(A) T TET T & € |

(C) (A)TH &, W< (R) ITAT |

(D) (A)E@ T, W] (R)TAT |

Paper-I11



16.

17.

18.

19.

In a population GRR will be equal to

NRR if

(A) Population growth rate is zero

(B) No mortality

(C) Population § at the
replacement level

(D) Population is
migration

closed to

The following are the sets of

framework for fertility analysis given

by Davis and Blake :
Factors that affect exposure to
intercourse

2.  Factors that affect exposure to
menopause

3. Factors that affect exposure to
conception

4.  Factors that affect exposure to
gestation

Find the correct combination of

answer as per code given below :

Codes :

(A) 1,2 and 3 are correct.

(B) 2,3 and 4 are correct.

(C) 1, 3and 4 are correct.

(D) 1,2 and 4 are correct.

For computation of General Marital

Fertility = Rate (GMFR), the

denominator is taken as

(A) All the currently married
females

(B) Ever married females in the
reproductive age-group

(C) All the female population in the
reproductive age group

(D) Currently  married female
population in the reproductive
age-group

Following are  important in
determining the level of fertility of a

country :
1.  Age at marriage
2. Ageing

3. Level of fecundability

4.  Use of contraceptives

Find out the correct combination of
answer according to the code :

Codes :

(A) 1,2 and 3 are correct.

(B) 1, 3 and 4 are correct.

(C) 1,2and 4 are correct.

(D) 2,3 and 4 are correct.
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20.

21.

22.

23.

24,

Assertion (A) : Rural fertility is
higher than urban fertility.
Reason (R) : Population density in
urban area is higher than in

rural areas.

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

If death rate of a stationary
population is 10 per thousand, then
its life expectancy would be

(A) 10 years

(B) 50 years

(C) T75years

(D) 100 years

One of the goals of National
Population Policy — 2000 was to
bring down the infant mortality rate
as below :

(A) 15/per 1000 live births

(B) 20/per 1000 live births

(C) 25/per 1000 live births

(D) 30/per 1000 live births

Which one of the following has the

highest expectation of life for
females ?

(A) USA (B) UK

(C) Japan (D) Australia

Assertion (A) : Proportion of elderly
population aged 60 and above
in the world is increasing.

Reason (R) There is general
improvement in the living
conditions of the people.

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.
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16.

17.

18.

19.

SHEE B SR AR, TSR3, &
TR BT AT

(A) SFEET TG IAE |

(B) T Jg-HE&A Tl ¢ |

(C) SHUE Uqe— TR WE |

(D) SHEEA Yae Uidetd & |

2forg 3R =i o Ut & faveton

&l TG =R €

1. TR S rErfd sl wHTed A
A HREH

2. ISHgR bt STEretd Sl weifer
T aTA HRE

3. YR & afATd T WHIed

4, THE H SErEd w uHied
T 153 ®is & HerEar ¥ ST HT Tet

eI I i
HE

(A) 1,233 TWIE |
(B) 2,3 3R4TE |
(C) 1,33R4TE |
(D) 1,23R4¢E |

A ok PEEER] 2y

(ST.0H.UF. 37%,) < GIOAT & ford &% &

w0 ferar s €

(A) TR § GEE faanted feat

(B) SR sMg-am W F o
foanfea et

(C) SH=RMeT 3Tg-aT H HHE Afetrsi
S STHET

(D) SHRNeT g H T 99d
Toranfee afeemstt o s

91 B USHA T BT TR iRa A

H f=AiTehd Hewayol €

1. foaw % 997 oy

2. FAGgEd

3. SEUEd ATl H TR

4. T TR T IYAT

HE D TeId T IW H el T

I I

BS:

(A) 1,23R3TE |

(B) 1,33R4TE |

(C) 1,23R4TE |

(D) 2,3 3N4TIT |

D-15-13

20.

21.

22.

23.

24,

AH (A) : IR USHAT B Jor T |
TTEOT USTeaT e Bl € |

& (R) D UTHOT A W qor |
IR & T S g 31 €|

(A) (A) 3R (R) 3l & € 3R (R),
(A) T TE T |

(B) (A) &R (R) Tl 7 & = (R),
(A) T TE TEHT T ¢ |

(C) (A)TTE W (R) A X |

(D) (A) 3§, W (R)TAT |

g TR SHEET 6 Jog 5T T &SR
10 &, T SHI STier e et

(A) 1039

(B) 50 a4

(C) 754

(D) 100 @

T SHEE AT — 2000 T TH A
ToTe] g 3T 1 THeh A1 AT o7
(A) 15mfa 1000 Sfifere S sred
(B) 20mfa 1000 Sfifere S= sredt
(C) 25mfa 1000 Sfifare S= sred
(D) 30mfa 1000 Sfifere S= sred

o & o8 S=an Sied e

f=ifera & 9 et g ST € 2
(A) FuaET (B) I
(C) <M= (D) eFrferan

AfHeA (A) : 60 TT R M Mg
H TIEH STAGEAT HT S ava
HIEWE |

% (R) A % EA-TeT @
Tefeat o am= quR e € |

(A) (A) 3T (R) THT Tl & 3 (R),
(A) T TE LT T |

(B) (A) 3R (R) 3 Wl & ] (R),
(A) FT TeT TR & € |

(C) (A)T@T, W< (R) A& |

(D) (A) T &, W (R)TAE |
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25. Assertion (A) : Longevity of persons

26.

27.

28.

in developing countries is low
at birth.

Reason (R) : Fertility is high in
developing countries.

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Match the following :

List— 1 List— 11
a. K. Zipf i. Theory of
Growth Poles
b. Perroux ii. Theory of
Optimum
Population
c. W.J. Reilly iii. Rank-size Rule
d. Carr- iv. Gravity Model
Saunder
Codes :
a b C d
(A) i v i i
(B) i i iv
(C) i i iv i
(D) ii i iv

Concept of Nested Hierarchy in
Spatial Organisation of human
settlements was formulated by

(A) R.E. Dickenson

(B) Brian Berry

(C) A.K. Philbrick

(D) Norton Ginsberg

Which one of the following values in
the concept of Nearest Neighbour
Analysis  reflects the tendency
towards uniform distribution of
human settlements ?

(A) 0.9

(B) 1.2

(C) 19

(D) 0.2
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29.

30.

31.

32.

Which one of the following is a
direct measure of migration ?

(A) Balancing Equation Method
(B) Place of Birth Method
(C) Survival Ratio Method

(D) National Population Growth
Method

Which one of the following is not
associated with migration studies ?

(A) Bogue

(B) Lee

(C) Ravenstein
(D) Stouffer

Who among the following authors is
associated with the Theory of
Demographic Transition ?

(A) Thompson
(B) Landry
(C) Zelinsky
(D) Notestein

Match the following :

List—1 List— 11
(Measures) (Persons)

a. Singulate mean i. Gompertz
age at marriage

b. Theory of ii. Graceille
Population

c. Abridged Life iii. Malthus
Table

d. Stable Population iv. Hajnal
Theory

v. Coale

Find the correct combination as per
code given below :

Codes :

a b c d
(A) iv i i v
(B) i v iv i
(C) v i i v
(D) i ii iv Vv
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25.

26.

27.

28.

afumpem (A) : fapmeiar 3o #
a1 IR ST & T
FHH A E |

% (R) : fasrastier <ot & woa
ST 3TH & |

(A) (A) @R (R) sHi W@l € 3R (R),
(A) FT TET LT E |

(B) (A) iR (R) 3 @l &, = (R),
(A) T Tel T & € |

(C) (A) T &, W< (R) ITA T |

(D) (A) 3T &, W (R)TAE |

iR 1 faeT ShifeTT
=i - | =t - 1
a. o % i, T-ye fasT
b. & ii. T=AY SHEE
g
c. TSI i, YUl-3MeR |
d. HEEFET  iv. o "iEgA
S
a b c d
(A) i v i i
B) i Qi i v
©) Qi i v i
() i Qi i v

AME SRl % e e | oAted
I (3TI5RH) I STTEROT HfadTed i
(A) RE. fehTaa =

(B) S R A

(C) U efors =

(D) HreA et =

[T MO THE  fOveluuT o
STYRON | eIt oo § & A aT
e I&ddl & THET foIaeor @ 3
TG e LT & 2

(A) 0.9

(B) 1.2

C) 1.9

(D) 0.2
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29.

30.

31.

32.

iR § @ HF W TEET H A
I & 2

(A) Tl FHIHOT Ugia

(B) ST =T TIH U5l

(C) SRS 31U T 1d

(D) ST SEE g TSl

fr=ifhd & 9 ®F vaEA reEEEl 9
T T E 2

(A) @

(B) i

(C) =M

(D) ww

frifrd oi@eshl § © ®H SIS

TopauT (o5 § T & 2
(A) e
(B) =gl
(C) Sifewent
(D) He==
=1 1 gHfeTd T
e - | =t - 11
(wm) (=)
a. foeEFI@URA i Y
ot ST 3T
b. SHEEm @ AT i, o
c. Wfere Siee difetpr i, Ao
d. TeR SH9en s iv. &sEa
V. et
I e @ie * T ¥ & gg=mg
Waﬁﬁf@:
S
a b Cc d
(A iv Qi i v
B) i v v i
© v i i v
O i i v v
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33.

34.

35.

36.

Which one of the following is not true
in case of stable population theory ?

(A) NRR=¢'T
(B) b:d:eio(ifr:O)
0

(C) c(at)=c(a)
(D) NRR =GRR

Assertion (A) : India’s birth rate is
declining and death rate has
declined rapidly.

Reason (R) : India has entered into
the third phase of demographic
transition.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Who has given the statements “

food is necessary to the existence of

man” and “the passion between sexes
is necessary and will remain in its
present state.” ?

(A) Garrett Hardin

(B) T.R. Malthus

(C) Karl Marx

(D) J.S. Mill

Assertion (A) : The temperature in
most of the metropolitan cities
is increasing alarmingly.

Reason (R) Green belt is
decreasing in urban areas.

Codes :

(A) Both (A) and (R) are correct and
(R) is the correct explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.
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10

37.

38.

39.

40.

Match the following List — | with
List—11:

List—1 List— 11

a. Relationship i. CR.
between Darwin
deprivation and
revolution

b. Basic-nonbasic ii. Leibenstein
concept of
urban economic
functions.

c. Theoriginof  iii. T.C. Davies
species

d. Theory of iv. JW.
Economic Alexander
demographic
development

Codes :
a b c d

(A) i i iv

(B) i iv i ii

C) i i i v

(D) iv i ii iii

Which one of the following

sequences is in correct descending
order based on Human Development
Index ?

(A) Punjab, Himachal Pradesh,
Haryana, Gujarat.

(B) Himachal Pradesh, Punjab,
Haryana, Gujarat.

(C) Haryana, Gujarat, Punjab,
Himachal Pradesh.

(D) Gujarat, Haryana, Himachal

Pradesh, Punjab.

The interval between menarche and
attainment of full biological maturity is
(A) primary sterility

(B) Adolescent sterility

(C) Secondary sterility

(D) Menopause

In population above the age of 7
years, when compared to males,
female literacy rate in India in 2011
is lower by

(A) less than 5 points

(B) 6 to 10 points

(C) 11to 15 points

(D) 16 to 20 points
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33.

34.

35.

36.

f=ifed O 9 & W ORI SEEET
g & Amel § 97 TR € 2
(A) TAARIW. =e'T

1
(B) b:d:e—O @< r=0)
0

(C) c@t)=c@
(D) TA.SR.3AR, = ST.3TR. 31X,

B (A) | WRA H 5 T IR @l

TAR TG R AT A FAA T |
% (R) : RS STHITRDHIT  ThHUT
% TG O H ST IATE |

FE
(A) (A) 3R (R) 1 4 € 3R (R),
(A) FT TEl TR & |
(B) (A) #R (R) Tl 7 & T (R),
(A) FT TeT T & € |
(C) (A)T@T, W< (R) 3T ¥ |
(D) (A) 3T &, W (R) T T |

Tg fFae FUF €, “HTS % i
& S qEET SEvgE & 3R 9 Al
A feafq 4 @/ 7 ?

(A) e @fed

(B) 213X, Toor

(C) et TR

(D) T4 fae

St (A) : T Te R IRt
o A Yt st 9 §g @l
T

% (R) L TR & H BRa ugt A
REEEN

S

(A) (A) 3R (R) 3l & € 3R (R),
(A) FT TET LT & |

(B) (A) &R (R) Tl 7 & T (R),
(A) FT TeT TR & € |

(C) (A)TTE W (R) AT |

(D) (A) 3T &, W (R) T T |
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37.

38.

39.

40.

fehet gt - | &1 gt - 11 | e

HieT
-1 =it - 11
a. M (@=) X Q. e
I & o SICE]
gy
b, TRE 3t ii. oleETET
SISO
O 3R -
T STeTROT
C. Sfcal T STW i, 2.
2w

d. TR SHifRsRE v ﬁ.@ﬂ.

forerra =1 AT TeTeRTEY
S
a b Cc d
A Qi i i v
®) i v i i
© i i i v
O) iv i Qi i

f=ifehd o ppdl B ¥ B W AEA
forepre i % YR W el 3TeriE!
FAAY?

(A) USTE, fEmTEet USwT, ERATOM, TR

(B) TeHT=eT WRET, TSI, ERATOM, TR

(C) &Ramm, ToR, ST, fedmeret vt

(D) TSR, g, et uew, i

T TSR Y qoT Sifges gRusedr &
T TR &

(A) T SeeEar

(B) feretrare swerar

(C) Taciiae sega

(D) it

IRA H 2011 § 9 99 ¥ FW H
S § qEe wl qorr H ferdi @t
TTETAT T A &

(A) 5 fogst @ w9

(B) 69 10 fogen & &g

(C) 119 15 faget & o=

(D) 16 ¥ 20 Tt & o=
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41.

42.

43.

Assertion (A) : Replacement level in
India is getting delayed.

Reason (R) : Gender preference is
prevalent in India.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Assertion (A) : Longevity of females
in Japan is the highest.

Reason (R) : Divorce rate is the
highest in Japan among
developed countries.

Codes :

(A) Both (A) and (R) are correct and (R)

is the correct explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

This consists of two lists of
statements, terms or symbols and the
candidate has to match an item in one
list with an item in the other :
List -1 List =11
a. Six billion population i. 1974
of the world

b. Recent National ii. 1976
Population Policy of
India
c. NF-HS-III iii. 1999
d. Child Marriage iv. 2000
Restraint Act
v. 2005-06
Codes :
a b c d
(A) iii v v i
(B) iv i i %
C) v i ii iii
(D) i v i v
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44.  Which one of the following is not a
spacing method of family planning ?
(A) Barrier Method
(B) Hormonal Method
(C) Vasectomy
(D) Intra-uterine Device (IUD)

45.  World Population Plan of Action was
adopted at the United Nations World
Population Conference held at
(A) Bucharest 1974
(B) Mexico 1984
(C) Belgrade 1965
(D) Cairo 1994

Read the passage below and answer the
questions that follow, based on your
understanding of the passage :

The definitions of Population Policy are

numerous and varied. To cite some

examples :

® A deliberate effort by a national
Government to influence the three
demographic variables : fertility,
mortality and migration.

° A set of coordinated laws aimed at
reaching some demographic goals.

° Direct and indirect measures,
formulated by the whole range of
social institutions, including
Government, which whether intended
or not, may influence the size,
distribution or composition of human
population.

In defining “population policy”, it is
useful to distinguish  between
“explicit” and “implicit” policies. An
“explicit” policy is a statement or a
document by a national Government
announcing its intention or plan to
affect the country’s population
growth and perhaps its distribution
and/or composition as well. Explicit
population policies have been issued
in a variety of forms, including

legislation; documents by
Governmental ministries and
commissions, sections of
development plans, policy

declaration of a ruling party,
statements by the nation’s President
or other high level officials.

D-15-13



41. B (A) : IR T AT HT TR

T e | foora 8 W@ E |

& (R) fom eafm awma H
T |

HE

(A) (A) ¥R (R) 3Fi @@l € 3R (R),
(A) T TE L |

(B) (A) #R (R) < W& & W= (R),
(A) T TE TEHT T ¢ |

(C) (A)T= &, W (R) ITAT |

(D) (A) g, W] (R) T E |

42. Ao (A) (SO | w5 ey

ety e € |

& (R) : faeptaa e ® | SOH
H el i 3T 3Mehad & |

WS

(A) (A) ¥R (R) SHi Wl & 3R (R),
(A) FT TET LT E |

(B) (A) iR (R) 3 @l &, = (R),
(A) T TET TR & € |

(C) (A)TE T, W (R) I ¥ |

(D) (A) 3\ E, "< (R)TA T |

43, i FeE, vt A1 et o S gredr €
AR el W ogE-l W Of W W

TI-11 8 <t A &% T GAferd T
e - | =t - 11
a. fowa @ ¥ Fi. 1974
SHEET
b. yRd @ a9 ii. 1976
AL TG i

C. TAURUITH-II iii. 1999
d. 17 e 09 iv. 2000

DR
v. 2005-06
S
a b Cc d
(A) iii v v i
(B) iv i i v
(C) v i ii iii
(D) ii Y i v
D-15-13
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44, TITRT § § HE IRAR FESE
AT (SR TSI el & 2
(A) g U
(B) @M w5
(C) Tod THa=
(D) smEIEL

45, o SHEET HE ASET FEl W GG
e fove SHEET e § 310 T
off 9
(A) TFR 1974
(B) TferTent 1984
(C) e 1965
(D) =T 1994

e T aResT i ied ST ST FHE FTER

U9l T I RN

SEE i @ g 3T fafay oo &

IS & AT W

o T SHIfRH TR ; USTHH &THAT, T X
3T TE= Sl Uad e & ford T

TIHR A GIaad Fa™

® TP SHilHHIT AN I U HA o ford
e HAT B TR

¢ WX THA, THE [anT= IHISTE
UM, ST SHEET % MR, faaur &
TS ol TSR o Febel & A1 7l i |
o Ud FFFd Al % o 3R
HAT AMIS BT & | T AN e
TR T Feded a1 EAEST & S 397 i
SAEET gy IR WEE 3Wh faeReT
YA G T AATad A & IHb
TS AT ST St SIS0 T & | oFekd
e Aifaat ot = ' § SR W
ST € 9 o HE,; WA A
% SUUN, I F W I Dl AT
HIYOT, AL & LU AT 3T o T
FHHARET FRT STRY fohd Tk |
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46.

In some cases, policies set specific
demographic targets, such as reacting
a certain level of fertility or mortality
by a specific year.

In contrast “implicit” policies are
those laws, regulations and other
directives which, although not
necessarily issued for the purpose of
affecting population growth,
distribution or composition, have the
affect of doing so. By aggregating
the impact of those policies that

influence population growth,
distribution and composition directly
and indirectly, one could

theoretically arrive at a conclusion
about a country’s implicit population
policy. In this way, one examines
what a country “does” not merely
what it “says”.

It is often very difficult to uncover a
country’s implicit policy. First, with
few exceptions, policies are not
generally coordinated to reach a
common population goal. Second,
most  social and economic
development policies (e.g. education,
health, income, housing) are thought
to influence fertility indirectly,
measurement of all these policies for
their effect on population dynamics
can be very complex and
cumbersome. Third, the net impact of
policies often is not known for many
years — if it is known at all.

Which one of the following does not

form part of the Explicit Population

Policy ?

(A) Legislation

(B) Development Plans

(C) Declaration by Political Parties

(D) Statement by Nation’s
President.
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47.

48.

49.

50.

Which one of the following is not a
part of the implicit population
policies ?

(A) Targets
(B) Education
(C) Health
(D) Income

In the passage, population policies
are aimed at influencing

I.  Fertility, mortality and
migration

I[l. Size and distribution of
population

I1l. Composition of Population
Which one of the following is correct ?

(A) landll
(B) landlll
(C) Handlll
(D) I, 1land I

Which one of the following is
synonymous in the passage ?

(A) Explicit and Target
(B) Explicit and Population Growth
(C) Implicit and Indirect measures

(D) Implicit and declaration by
Nation’s President

The tone of the passage can be
described as

(A) Analytical and optimistic
(B) Biased and unprofessional
(C) Critical and pessimistic
(D) Tentative and inconclusive
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46.

Fo feafat 4, Hifaat fafere sHifeRE
e fAead el € 9 T U foer o
T T TR T i IST &0t a1 §eg
TT H U AT |

9% [aWid, ofe Aidqar o8 S,
fafm 3 fder € S @l sAEE
gfg, foaRor a1 YA H wIfad A &
3T O AEEd: SR e T S g,
TIRT TG S8l &I & | 3 Aifqar i, i
SO gfy, faRer R gasE @
ToTe] TS Ucgel ®9 9 uiterd sl ¢,
TSI Feh 9T i 31T STHGET et
% IR B Igiae FepY Feen S
T & | 39 e T, 3T a1 H1 W geT
1 ST T & fo 9 T “FAT &7 IR
ot =gt =&l fob o o “sheer 87 |

9 B FFT AT BN SHGT HAT
FFR TEd Hied B & | T, FO
AR B BIg T, AEFEAT, i
FEHH SAGE A T Tga o ford
Trfd el gt € | g, U foen &
T sifeepier TmfsTer 2R 3nfée faepra
T (SO frem, W@, e,
3MAT) TS &THAT I W] €9 O
TIfad el & TGS Tl
W IAH TE H @ & o T ud
T 1 T g Sieed 3 g &
el & | T, it S 9w, afs
1A ot T T ST €, SRR Sgd At
% 9% T T8l & g |

e SHEET i 1 fewq =ifhd |
Y T AT E 2

(A) =

(B) faerg ISR

(C) TSHTaeh il gRT EEon

(D) g o IeZafet §RT areFied

47.

48.

49.

50.
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TrAifehd & & 9 AT TS STHEET
it =1 fewar T@l 7 2

(A) e

(B) Torem

(C) w@reA

(D) =

I=sg U, S Aifqal & oeg e
wTfer S T 2

|, USHA &THdT, 9og 3X 3R Toe
[, STHEE 1 3SR AT foaeor

[1l. S99 1 9IS

feifehe o @ B @ W ® ?

(A) 1311

(B) I 3R

(C) Nl

(D) 1, 11 3 I

fr=iferd & @ &9 A1 URess § FqHETET
T2

(A) =TT IR 7T

(B) =R IR G Jig
(C) 3T=aer X 3Tvcet SUd

(D) /=T IR UL & TLAd FRI
oo

TEST & WiE 6l 39 a¥E W fohar ST
Hehell &

(A) TovATuTCHsE SR STeTeTRT
(B) UAEIFT 3 AT
(C) fommmTee iR Frmmemt
(D) AT (3TAw) SR ST
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